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Skills Worksheet

Directed Reading A

Section: Types of Interactions

B

1.
In a natural community, population sizes vary because


a.
the populations are not affected by each other.


b.
the populations all affect one another.


c.
individuals in the populations decide to have big families.


d.
the populations are able to grow without stopping.

interactions with the environment


2.
When a frog lays hundreds of eggs in a small pond, what happens to the population of frogs in the pond? Explain your answer.

It remains about the same because many of the eggs will not survive.

3.
A resource so scarce that it limits the size of a population is called a(n) limiting factor.

4.
In what way can food become a limiting factor?

If the population gets too large the amount of food available becomes scarce.

5.
The largest population that an environment can support is called its carrying capacity.


6.
What happens when a population grows larger than its carrying capacity?
Some sort of limiting factor will cause population to fall again.
interactions between organisms


7.
Ecologists have listed four main ways that species and individuals affect other—competition, ________predator_______and prey, symbiosis, and coevolution.
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competition


8.
When two or more individuals or populations try to use the same resource, it is called ___________competition.

9.
Give an example of competition between individuals within a population and of competition between populations.

Elk in Yellowstone competing for plants/Various species of trees competing for sunlight.
predators and prey

A

10.
What word is used for an organism that eats another organism?


a.
predator
c.
competitor


b.
carrier
d.
prey

D

11.
What word is used for an organism that is eaten?


a.
predator
c.
competitor


b.
carrier
d.
prey


12.
List two adaptations predators use to catch prey.

Speed and camouflage

13.
List two ways prey have adapted to avoid predators.

Camouflage and poison

14.
Give two examples of animals using defensive chemicals against predators.

Bombardier beetle, skunk, bee, etc.

15.
How can being bright red, yellow, or orange help an animal avoid predators?

It serves as a warning.
symbiosis



16.
A close, long-term association between two or more species is called

A
a.
symbiosis.
c.
predator adaptations.


b.
defensive chemicals.
d.
camouflage.

Directed Reading A continued


17.
What are the three types of symbiosis?

Mutualism, commensalism, parasitism

18.
Both organisms benefit in the type of symbiosis called ___________mutualism.

19.
When one organism benefits and the other is unaffected, the symbiotic relationship is called _________commensalism_____________.


20.
A symbiotic relationship in which one organism benefits and the other is harmed is called _____parasitism_________________.


21.
In parasitism, the organism that benefits is called the ____________parasite__________.


22.
The organism that is harmed by a parasite is called the _________host_____________.


23.
Do most parasites kill their hosts? Why or why not?

They usually weaken the host, but do not regularly kill the host because they need the host to survive.
coevolution


24.
What name is given to a long-term change that takes place in two species because of their close interactions with one another? Give an example.

Coevolution-the ant and the acacia tree

25.
Describe an example of coevolution between a flower and its pollinator.

The some bats developed longer noses and tongues to get the nectar from the flowers.
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